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i

General Instructions :
Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

This question paper comprises of two parts — Part A and Part B. There are
12 questions in the question paper. All questions are compulsory.

Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements and
(2) Computerised Accounting. Students must attempt only one of the given
options.

Questions no. 1 to 3 and 10 are Short Answer Type-I Questions carrying
2 marks each.

Questions no. 4 to 6 and 11 are Short Answer Type-II Questions carrying
3 marks each.

Questions no. 7 to 9 and 12 are Long Answer Type Questions carrying
5 marks each.

There is no overall choice. However, an internal choice has been provided in
3 questions of three marks and 1 question of five marks.

PART A

(Accounting for Not-for-Profit Organisations, Partnership Firms and Companies)

1.

Distinguish between ‘Receipts and Payments Account’ and ‘Income and
Expenditure Account’ on the basis of the following : 2
(a)  Period

(b)  Debit side

Pass the necessary journal entry on dissolution of a partnership firm if

an unrecorded creditor of ¥ 40,000 was paid by a partner, Amar, at a
discount of 10%. 2

A, B and C are partners in a firm sharing profits and losses equally. C
retired and his share was acquired by A and B in the ratio of 3 : 2.
Calculate the new profit sharing ratio of A and B. 2

(a)  From the following information of ‘Kapoor Sports Club’, calculate
the amount of ‘sports material’ to be debited to ‘Income and

Expenditure Account’ for the year ended 315t March, 2021 : 3

Details An%ount

Stock of sports material as on 15t April, 2020 40,000
Creditors for sports material as on 15¢ April, 2020 8,000
Stock of sports material as on 315t March, 2021 20,000
Amount paid for sports material during the year 2020 — 21 90,000
Creditors for sports material as on 315t March, 2021 10,000

OR
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(@) 314, 2021 hHl FAT g Y & Q. Taat w9 Foae o fefeq faamm
# ffaiRaa =1 SISy
e ufr
o = 10,000
g Sy 70,000
9 +IY & 9T M 20,000
T feehal i fohl 10,000

5.  THI, TSI AT T Teh BH o HIEER & aAT 2: 2 : 19 3T § TY-gIH died
8 | 30 {4, 2021 %! T 1 Hcg & 75 | 31 A=, 2021 I HA T 99 H
fosha = 12,00,000 T @Y T 1,20,000 & | 1 37, 2021 § 30 5, 2021
e <t Iafyr i fasea i T 4,00,000 oft | @ Ifd ¥ 31 7= =+ W€ foh
STd & | W < geg i fafs a6 e # I5eh 9T SRl oA SIS qen wH
J&dehl H 3TEwdeh UsHTH= Jfafte i |

6. (%) uvseara fafes 7 st ffies it = 25,00,000 St afEraf=n qen
T 7,80,000 3 IATHT 1 IUET T 27,00,000 3 6T oI W R |
i fafide = YaE T 100 996 & 10% FOGET &l 10% d8 W
ftfra =tep fopam mam |
GusadTa [l i T&aehl § ITYh el o ot A9 TaHmH
gferfseat $ifsm |
AT

(@) U 3| hl TEEAT § RG] I GHATReD T[T o &9 H e 1
31 FHETST |
7. TfaRea feafaat § gee fafids 1 geaehl | o=l o e il e
et gfafseat Hifu
(%) T 100 I¥% & 7500, 10% OGN 1 fFHT T 10,000 % 53 T T
T, TSRt MY 5% o Hiftem e R |

(@) T 100 &% & 5000, 10% Fora=i 1 = 10% Hftem w fmam m,
Sent seM 10% Nftew W1 3 |

(7)) T 100 IH % 1000, 9% FOTGHAT T THT FHYeT TR fopam e, e
MG T W HET 3 |

(") T 100 9% & T 2,00,000, 9% FOIAT T fFHT 10% & o3 W fman
T, TSR MY THed W R § |

() T 100 Y% % 5000, 9% FaEl &1 Friaa 209% Hifem w feran mm,
ST e TR e W HET 7 |
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(b)

Show the following information in the Balance Sheet of ‘Royal
Sports Club’ for the year ended 315t March, 2021 :

Details An;ount

Match expenses 10,000
Match fund 70,000
Donation for Match fund 20,000
Sale of match tickets 10,000

Ramesh, Rajesh and Raman are partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. On 30" June, 2021, Ramesh died. Sales for
the year ended 315t March, 2021 were ¥ 12,00,000 and profits were
T 1,20,000. The sales for the period from 15 April, 2021 to 30th June,
2021 amounted to T 4,00,000. Accounts are closed on 315t March every
year. Calculate Ramesh’s share of profit till the date of his death and
pass the necessary journal entry for the same in the books of the firm.

(a)

(b)

Khandelwal Ltd. took over assets of Sharma Ltd. of ¥ 25,00,000
and liabilities amounting to ¥ 7,80,000 for a purchase consideration
of ¥ 27,00,000. The payment to Sharma Ltd. was made by issuing
10% Debentures of ¥ 100 each at a discount of 10%.
Pass the necessary journal entries for the above transactions in the
books of Khandelwal Ltd.

OR

Explain the meaning of issue of debentures as collateral security
with the help of an example.

Pass the necessary journal entries in the books of Pankaj Limited for the
issue of Debentures in the following cases :

(a)

(b)

(c)

(d)

(e)

Issued 7500, 10% Debentures of T 100 each at a discount of
T 10,000 redeemable at a premium of 5%.

Issued 5000, 10% Debentures of ¥ 100 each at a premium of 10%
redeemable at a premium of 10%.

Issued 1000, 9% Debentures of ¥ 100 each at par redeemable at
par.

Issued ¥ 2,00,000, 9% Debentures of ¥ 100 each at a discount of
10% redeemable at par.

Issued 5000, 9% Debentures of T 100 each at 20% premium
redeemable at par.
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8. (%) & qA W WK & dAUT AWM SUSR-SREX Ud B afed 8 |
31 |T™, 2021 i I8 BH o faeed &1 Fuig fean | fages & fafa ==

Ieh1 Tt foemor 9 e 4 o

31 U=, 2021 ! & d9T @ o1 feafa feawon
TSR 3,00,000 | S 3,00,000
o hT R0 60,000 | i 2,40,000
STt & T R0 70,000 | H=R 2,00,000
gt LRERRIRNIET] 1,00,000
ED 2.30,000 AT @t 50,000
tc| 2,30,000 | 4,60,000

8,90,000 8,90,000

gRErfal 1 agel a1 IarsTi i WM = Jehr fohat T
(i)  TFGRI I 20% HH YTaH T T |

(i) & J T 1,80,000 § HHeR o for@m dem < 80,000 H T qeT
ENIERECARCE DR IRIDI

(iii)) @9 T 1,80,000 T & o foam |

(iv) o 9 #dl % % 01 1 YIAE HE H F=4 QT |

(v) Sl = T 20,000 T IAH @ GRI AT T |

A @Il dIR HINT |
roran
(@) fafeq, foma dqon = s w0 & @EIGR 9 | 31 4, 2021 1 3

feufa foremor 1 yvR @ o
31 "=, 2021 =t fafea, foma qen Rt =0 fearfa feero

IGEALS 72,000 | Uehs 28,000
EEeayl 18,000 | ¥ 46,000
= Y 18,000 | TTER 34,000
T 30,000
qSi I3 Qe A 66,000

fafea 48,000

@ 16,000

o 32,000 96,000
2,04,000 2,04,000
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(a)

A and B are partners sharing profits and losses equally. On

315t March, 2021, they decided to dissolve their firm. On the date
of dissolution, their Balance Sheet was as under :

Balance Sheet of A and B as at 315t March, 2021

Liabilities AmOunt | 4 csets Amount
Creditors 3,00,000 | Bank 3,00,000
A’s Loan 60,000 | Stock 2,40,000
Mrs. A’s Loan 70,000 | Furniture 2,00,000
Capitals : Plant and Machinery 1,00,000
A 2,30,000 Profit and Loss A/c 50,000

B 2,30,000 | 4,60,000
8,90,000 8,90,000

The assets were realised and liabilities were paid as under :

(1)
(i1)

Creditors were paid at 20% less.
Furniture was taken over by A for ¥ 1,80,000 and Plant and

Machinery was sold for ¥ 80,000.

(iii)
(iv)
(v)

(b)

B took over the stock at ¥ 1,80,000.
A promised to pay Mrs. A’s loan.
Realisation expenses of ¥ 20,000 were paid by B.
Prepare Realisation Account.

OR

2021, their Balance Sheet was as follows :
Balance Sheet of Vidit, Vinay and Siya as at 315t March, 2021

Liabilities Amount | s ssets Amount
Creditors 72,000 | Cash 28,000
Bank Loan 18,000 | Stock 46,000
General Reserve 18,000 | Debtors 34,000
Building 30,000
Capitals : Plant and Machinery 66,000
Vidit 48,000
Vinay 16,000
Siya 32,000 96,000
2,04,000 2,04,000

Page 7 of 15
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Ik fafyr =1, fom Qanfaaa g1 man qen f W e s

(i) ¥ % Hed B T 10,000 & HH H g S |

(i)  HIA qAT AT 1 GeAThA T 80,000 T TohAT ST |

(iii) <FgRI ® AfEfa T 4,500 hi TR &1 g1 T8 b STT |
(iv)  GIGRI 3T JeTehd T 30,000 feram T |

(v) o =1 <o iy fog < ko1 @rd § ToEmaia i e |

YR @ral ae fom o1 goit @raT dIm i |

29 a9 o 31 HIE, 2021 %! AT §C 99 o fofy ffeified wiftd wa 9rae
QT A ANE Fo 1 | 31 7716, 2021 1 A gC ¥ o fU o @ =y
WW@'&I’Q

31 9T=, 2021 W1 THTC TY Y o 77 2o Feaa o1 WTfeq T YIra= @t

e T e R
T T
Y A AT 1,50,000 | = 1,80,000
o & fote M 88,000 | fertrm 50,000
SIETEEIRETIR] 80,000 | ST = 2,000
U HHMER-TAT T sk 200 | g&dh 28,000
qT ETICT 80,000
2019 - 20 1,800 /Y AW A T 51,000
2020-21 70,000
2021 — 22 1,000 72,800
3,91,000 3,91,000
SIaR® G :
(i) o9 % 80 UG § AU Y% Heed Ufd a¥ T 1,000 % =g H1 YIaH
HA 2 |

(i) W= T shd 1 SHadl, 2021 ! fohan T |
(iii) WTeR W 10% I T9 1 G § JeIg™ T 17 |
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On the above date, Vinay retired and it was agreed that :

i) The value of stock will be reduced by ¥ 10,000.
(ii)  Plant and Machinery will be valued at ¥ 80,000.

(iii)) An amount of ¥ 4,500 included in creditors is not likely to be

claimed.

(iv)  Debtors to be valued at T 30,000.

(v)  Amount due to Vinay will be transferred to Vinay’s Loan

Account.

Prepare Revaluation Account and Vinay’s Capital Account.

From the following Receipts and Payments Account and additional
information of Truth Club for the year ended 315* March, 2021, prepare

Income and Expenditure Account for the year ended 315t March, 2021 :

Receipts and Payments Account of Truth Club for the
year ended 315t March, 2021

) Amount Amount
Receipts = Payments =
Balance b/d 1,50,000 | Salaries 1,80,000
Donation for building 88,000 | Rent 50,000
Locker rent 80,000 | Postage 2,000
Sale of old newspapers 200 | Books 28,000
Subscriptions : Furniture 80,000

2019 — 20 1,800 Balance c¢/d 51,000
2020 - 21 70,000
2021 — 22 1,000 72,800

3,91,000 3,91,000

Additional Information :

(i) The club had 80 members each paying an annual subscription of

< 1,000.

(i)  Furniture was purchased on 1% January, 2021.

(iii) Depreciation on furniture was charged @ 10% p.a.

Page 9 of 15
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10. g YATE Taawul dIR ohid IO SROTTHAl o SNEE’ 1 YR Uhs ol A=<dig,

sfgatg 1¥et I3 I8 T8 B, HRUT TfEd sy |

11. (%) F=faRea gz 9, 31 U, 2022 % TAG gL I8 @ foQ @ fafes

T FHT TR ATH-BTH foarur R hifv

3 2021 — 22 2020 — 21
T T
Tl § IANH 25,00,000 20,00,000
I A 3,00,000 2,00,000
= 3,00,000 1,00,000
T 50%
AT
@) f=faRes g=am @, 31 9, 2022 1 guT gC 99 & fou 9 fafies
T 8¢
ST eHTCHS ATH-FIH [IaX IR HIfT
3 2021 — 22 2020 — 21
T T
Tl § IANH 40,00,000 |  30,00,000
I A 10,00,000 |  10,00,000
SR fBaey =3 5,00,000 5,00,000
I Y 35,00,000 |  20,00,000
X 50%
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PART B
OPTION 1

(Analysis of Financial Statements)

10. State with reason, whether ‘Redemption of Debentures’ would result in

inflow, outflow or no flow of cash while preparing Cash Flow Statement.
11. (a) From the following information, prepare a Common Size
Statement of Profit and Loss of X Ltd., for the year ended
31st March, 2022 :
Particul 2021 - 22 2020 - 21
articulars > =
Revenue from Operations 25,00,000 20,00,000
Other Income 3,00,000 2,00,000
Expenses 3,00,000 1,00,000
Tax Rate 50%
OR
(b)  From the following information, prepare a Comparative Statement
of Profit and Loss of Y Ltd. for the year ended 315t March, 2022 :
. 2021 - 22 2020 - 21
Particulars
< <
Revenue from Operations 40,00,000 30,00,000
Other Income 10,00,000 10,00,000
Employees Benefit Expenses 5,00,000 5,00,000
Other Expenses 35,00,000 20,00,000
Tax Rate 50%
67/2/3 Page 11 of 15 P.T.O.
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31 W, 2021 % WA fafies & Fafaiaa feafa faeror @@ 31 9, 2021 =

AT g N < U ‘Sme fafefm & T Jarg i M1 T
31 |TH, 2021 R WA fefaes o1 feafa feero

r— =ﬁ2 31.3.2021 | 31.3.2020
g. T T
I — QudT qT U
1. Iy fet
() oT=1 gt 7,50,000 |  7,00,000
(@) T= g e 1 1,25,000 55,000
2. I AT
SefpTefia 391 1,00,000 62,500
3. =Te] qFATg
(oh) AR IUT 2 6,000 5,000
(@) =i 7,500 41,500
(1) LRI Jrarem= 3 9,000 5,500
E5 9,97,500 | 8,69,500
II - gfeEra T
1. 379 giEHgrar
T} ittt
(%) Hd ekt 4 9,30,000 |  8,05,000
(@) 1 aiEmfaEt 5 25,000 15,000
2. =Tq giEr Rt
(%) =me] A 4,000 2,500
(@) arerg= (i) 18,500 29,500
(1) SATATRER T 13,000 11,500
(9) kg Td Uehg TA 7,000 6,000
EN 9,97,500 | 8,69,500
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Balance Sheet of Raman Ltd. as at 315t March, 2021

Particulars Note | 31.3.2021 | 31.3.2020
No. T T
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 7,50,000 7,00,000
(b) Reserves and Surplus 1 1,25,000 55,000
2. Non-Current Liabilities
Long-term Borrowings 1,00,000 62,500
3. Current Liabilities
(a) Short-term Borrowings 2 6,000 5,000
(b) Trade Payables 7,500 41,500
(c) Short-term Provisions 3 9,000 5,500
Total 9,97,500 8,69,500
IT - Assets :
1. Non-Current Assets
Fixed Assets
(a) Tangible Assets 4 9,30,000 8,05,000
(b) Intangible Assets 5 25,000 15,000
2. Current Assets
(a) Current Investments 4,000 2,500
(b) Inventories 18,500 29,500
(c) Trade Receivables 13,000 11,500
(d) Cash and Cash
Equivalents 7,000 6,000
Total 9,97,500 8,69,500

Page 13 of 15
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31st March, 2021 from the following Balance Sheet of Raman Ltd. as at
31st March, 2021 :
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@rdi @ A1
e 3 31.3.2021 | 31.3.2020
g. T T
1 | 9= w9 iy
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4 | qd uiEafat
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TehAd Hodg (70,000) (45,000)
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5 | oTd ufwmafaat
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sfafeh g2
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fererea 2
(FTIERa oETh)
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(=)

(@)

JfeheT UG Ja=d Jured! &1 319 i |

AT

U0 AT bl dIR) | GiAfed =on ol Seai@ shifty |
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11.

12.
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Notes to Accounts :

Note Particulars 31.3.2021 | 31.3.2020
No. 4 3T
1 | Reserves and Surplus
(Balance in Statement of Profit and Loss) | 1,25,000 55,000
2 | Short-term Borrowings
Bank Overdraft 6,000 5,000
3 | Short-term Provisions
Provision for Tax 9,000 5,500
4 | Tangible Assets
Machinery 10,00,000 | 8,50,000
Accumulated Depreciation (70,000) | (45,000)
9,30,000 | 8,05,000
5 | Intangible Assets
Patents 25,000 15,000

Additional Information :

Tax paid during the year amounted to ¥ 6,500.

PART B
OPTION 2
(Computerised Accounting)

State any two characteristics of Computerised Accounting System.

(a)

(b)

OR

Give the meaning of Database Management System.

State the steps involved in preparing Payroll Accounting.

Explain the steps involved in installation of Computerised Accounting

System.
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Strictly Confidential: (For Internal and Restricted use only)
Senior School CertificateTerm Il Examination, 2022
Marking Scheme — ACCOUNTANCY (SUBJECT CODE - 055)
(PAPER CODE - 67/2/3)

General Instructions: -

1.

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to
anyone, publishing in any magazine and printing in News Paper/Website etc. may
invite action under IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and marks be
awarded to them.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. The remaining answer books meant for
evaluation shall be given only after ensuring that there is no significant variation in the
marking of individual evaluators.

Evaluators will mark( V' ) wherever answer is correct. For wrong answer ‘X’ be marked.
Evaluators will not put right kind of mark while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out.



10.

11.

12.

13.

14.

15.

16.

17.

No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

A full scale of 0-40 marks as given in Question Paper has to be used. Please do not
hesitate to award full marks if the answer deserves it.

Every examiner has to necessarily do evaluation work for full working hours i.e. 8 hours
every day and evaluate 30 answer books per day in main subjects and 35 answer books
per day in other subjects (Details are given in Spot Guidelines).This is in view of the
reduced syllabus and number of questions in question paper.

Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on a reply.

¢ Wrong transfer of marks from the inside pages of the answer book to the title page.
¢ \Wrong question wise totaling on the title page.

¢ Wrong totaling of marks of the two columns on the title page.
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MARKING SCHEME

Senior School Certificate Examination TERM-I1, 2022

ACCOUNTANCY (Subject Code-055)
[ Paper Code : 67/2/3 ]

Maximum Marks : 40

Ans.
Old Profit Sharing Ratio

Q. No. EXPECTED ANSWER / VALUE POINTS Marks
PART—A
(Accounting for Not-for-Profit Organisations, Partnership Firms and
Companies)
1. | Q. Distinguish between ‘Receipts and Payments Account’ and ..........
Ans.
Basis Receipts and Payments Income and
Account Expenditure Account
Period It may relate to current, | It relates to current
preceding  or  succeeding | period
periods
Debit side Debit side of this account | Debit side of this 1x2
records receipts account records =
expenses and losses 2 marks
2. | Q. Pass the necessary journal entry.........
Ans.
Journal
: Debit Credit
Date Particulars L el red
. Amount Amount
F ) )
Realization A/c Dr. 36,000
To Amar’s Capital A/c 36,000
(Unrecorded creditor paid by 2 marks
Partner Amar at 10% discount)
3. | Q. A, B and C are partners in a firm sharing.........c.c.cceeuveviiiincenenennn




A B C
1 1 1
3 3 3
C’s share = 1
3
Share acquired by A = 1><§
35
_3
15 Yo
. 1 2
Share acquired by B = =x—
35
15

New Share= Old Share + Gain
A’soldshare =1/3 , A’s gain=3/15
A’s new share = l + i
3 15 1
=8/15

B’sold share =1/3 , B’s gain=2/15

1 2
B’s new share= 3 + —

15 1,
=7/15 -
_ 2 marks
New ratio=8:7
Q. (a) From the following information............
Ans.
Calculation of amount of sports material to be debited to income and expenditure
Alc:
®)
Amount paid for sports material 90,000 Yy
Less creditors for sports material as on 1.4.20 (8,000) Yo
Add creditors for sports material as on 31.3.21 10,000 Y
Add stock of sports material as on 1.4.20 40,000 ez
Less stock of sports material on 31.3.21 (20,000) &




Amount to be debited to Income & Expenditure A/c /

Sports Material consumed

Alternatively :

1,12,000

Dr Stock of Sports Material Account Cr
Particulars Amount | Particulars Amount
) )
To Balance b/d 40,000 | By Income and Expenditure A/c | 1,12,000
. (Sports Material consumed
To Cr_edltors Alc 92,000 during the year- Balancing
-Credit figure)
Purchases g
By Balance c/d 20,000
1,32,000 1,32,000
Dr Creditors for Sports Material Account Cr
Particulars Amount | Particulars Amount
) §3)
To Bank A/c 90,000 By Balance b/d 8,000
To Balance ¢/d | 10,000 By Stock of Sports Material
Alc (Credit purchase of Sports 92,000
Material)
1,00,000 1,00,000

(b) Show the following information in the Balance Sheet of ‘Royal Sports

Ans.

OR

Yo

marks

1%

+1%

marks

OR




Balance Sheet of Royal Sports Club as at 31st March, 2021
Liabilities Amount Assets Amount
) Q)
Match fund 70,000 Yy
Add: Donation for match fund 20,000 Yo
Add : Sale of match tickets 10,000 Yo
Less Match expenses (10,000) | 90,000 Yo+l
3 marks
Q. Ramesh, Rajesh and Raman.............
Ans.
Sales for 2020-21 %12,00,000
Profit for 2020-21 % 1,20,000
Sales for 3 months = % 4,00,000
Profit for 3 months = 4,00,000/12,00,000 x1,20,000 =< 40,000
Or
Rate of profit = 1,20,000 /12,00,000 x100 =10%
Profit for 3 months =10% of 4,00,000 = 340,000
Ramesh’s share of profit = % x % 40,000 2
=3 16,000
Journal
Date Particulars L Debit Credit
I.: Amount Amount
®) ®) .
2021 | Profit & Loss Suspense Alc 16,000 _
June To Ramesh’s capital A/c 16,000 3
30 (Ramesh’s share of profit till date of his marks
death transferred to his capital A/c)

6




Q. (a) Khandelwal Ltd. took over assets..........
Ans.

Khandelwal Ltd.
Journal

L.F Debit Credit
Amount Amount

®) ®)
Sundry assets A/c Dr. 25,00,000
Goodwill Alc Dr. 9,80,000
To Sundry liabilities A/c 7,80,000
To Sharma Ltd. 27,00,000

(Acquired Assets and Liabilities
of Sharma Ltd.)

Date Particulars

Sharma Ltd. (30,000x90) Dr. 27,00,000
Loss /Discount on issue of
Debentures A/c (30,000x10)  Dr. 3,00,000 | 54 59,000

To 10% Debentures Alc

(Issued 10% debentures in favour of
Sharma Ltd. and recorded loss/
discount on issue of debentures)

27,00,000
100-10
~27,00,000

90

Number of debentures to be issued =

=30,000 debentures
OR
Q. (b) Explain the meaning of issue of debentures as collateral security...
Ans.

Collateral security may be defined as a secondary security besides the primary
security when a company obtains loan from a bank or any other financial

1%

1Y%

marks

OR




institution. Collateral security is to be realized only when the loan amount is not
fully recovered from the sale proceeds of the primary security.

The company may issue its own debentures to the lenders in addition to some
other assets already pledged. Such issue of debentures is known as ‘debentures
issued as collateral security’.

Example : Ananda Ltd. took a loan of X 50 lakhs from Sind Bank and issued
9% debenture of X 60 lakhs (X 100 each) as a collateral security.

Or any other correct example.

marks

Q. Pass the necessary journal entries...........

Ans.
Journal
Date Particulars LF. Debit Credit
Amount | Amount
Q) Q)
(@ | (i) Bank Alc Dr. 7,40,000
To Debentures Application 7,40,000
and Allotment A/c
(Application Money received on
7,500 10% Debentures)
(it) Debentures Application and
Allotment Alc Dr. 7,40,000
Loss an issue of Debenture A/c  Dr. 47,500
To 10% Debentures Alc 7.50,000
To Premium on Redemption of 37 500
Debentures A/c ’
(Application money transferred to
10% Debentures A/c)




(b)

() Bank Alc Dr.
To Debenture

Application and Allotment
Alc

(Application Money received on
5,000 10% Debentures)

(if) Debenture
Allotment Alc

Loss on issue of Debenture A/c
To 10% Debenture A/c

To Premium on Redemption
of Debentures A/c

To Securities
Reserve Alc

Application

Premium

(Application money transferred to
10% Debentures A/c and
Securities Premium Reserve)

and
Dr.

Dr.

5,50,000

5,50,000
50,000

5,50,000

5,00,000
50,000

50,000

(©)

(i) Bank Alc

To Debentures
Application and
Allotment A/c

(Received Application money
for 1,000 Debentures)

Dr.

(ii) Debentures Application and
Allotment Alc Dr.

To 9% Debentures A/c

(Application money
transferred to 9% Debentures
Alc)

1,00,000

1,00,000

1,00,000

1,00,000

(d)

(i) Bank Alc

To Debentures
and Allotment A/c

(Received Application money for
2,000 Debentures)

Application

Dr.

1,80,000

1,80,000




(ii) Debentures Application and 1,80,000
Allotment A/c Dr.
Loss/Discount on issue of
Debentures Alc Dr. 20.000
To 9% Debentures Alc 2.00,000
(Application money transferred to
9% Debentures A/c) 1 x10
(e) (i) Bank Alc Dr. 6,00,000 -
To Debentures 5 marks
Application and 6,00,000
Allotment A/c
(Received Application money for
5,000 Debentures)
(ii) Debentures Application and 6,00,000
Allotment A/c Dr.
To 9% Debentures Alc 5,00,000
To Securities  Premium 1,00,000
Reserve Alc
(Application money transferred
to 9% Debentures Alc
and Securities Premium
Reserve)
Q. (a) A and B are partners...........
AnSs.
Dr. Realization Alc Cr
Particulars Amount Particulars Amount
® )
To Sundry Assets : By Sundry
Stock 2 40000 Liabilities :
. L Creditors Yo+
Furniture _ 2,00,000 3.00,000
Plant & Machinery  1,00,000 5,40,000 Mrs. A’s loan
70.000 3,70,000
By A’s Capital
Alc
To Bank: -Furniture 1,80,000
-Creditors 2,40,000 By Bank A/c : 1/2 + 1/2
To A’sCapital Alc: -Plant and 80,000
-Mrs. A’s 1 70,000 i
rs. A's loan Machinery Yy + 1
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To B’sCapital A/c: By B’s Capital
-Realization Expenses 2 Ale: 1,80,000
0,000 Stock
By Loss
Transferred to :
A’s Capital
Alc
30,000
B’s Capital A/c
60,000
30,000
8,70,000 8,70,000
OR
Q. (b) Vidit, Vinay and Siya......
Ans.
Dr. Revaluation A/c Cr.
Particulars ®) Particulars ®)
To Stock Alc 10,000 | By Plant A/c 14,000

To Debtors Alc

To Gain on Revaluation
transferred to Partners’ Capital
Accounts:

4,000 | By Creditor Alc 4,500

Vidit 1,500
Vinay 1,500
Siya 1,500 4,500
18,500 18,500
Dr. Vinay’s Capital A/c Cr.
Particulars ® Particulars ®
To Vinay’s Loan A/c 23,500 | By Balance b/d 16,000
By Revaluation A/c 1,500
By General Reserve 6,000
23,500 23,500

Yot Yo

Yo+ Y2

Yo+ Yo

+1

Yox4

3+2

5 marks

11




9. | Q. From the following Receipts and Payments Account......... of Truth
Club.........
Ans
Dr. Income and Expenditure Account for the year ending 31st March, 2021 Cr
. Amount Amount
Expenditure Income
Q) Q)
To Salaries........ Z 1,80,000 | By Locker Rent 4 80,000
To Rent........[A 50,000 | By Sale of old newspaper 200 ALY
To Postage........ 2 2,000 | By Subscription [80x1000] 80,000 14541
To Depreciation of furniture By Excess of Expenditure  over
Income : Deficit 73,800
{80000x£xi} 2 000
100 12 ' 1+%
2,34,000 2,34,000 || =
5 marks
PART B
OPTION 1
(Analysis of Financial Statements)
10. | Q. State with reason whether.............
Ans.
Redemption of debentures would result in outflow of cash.
Reason: It involves use of cash. [For the payment of debentures] 1+1
marks
11. | Q. (a) From the following information, prepare a Common Size
Statement.........
Ans.
Common size statement of Profit & Loss of X Ltd. for the years ended
31st March, 2021 and 31st March, 2022
Particulars 2020-21 | 2021-22 % of Revenue % of Revenue
®?) ®?) from Operations | from Operations
2020-21 2021-22
Revenue from operations 20,00,000 | 25,00,000 100 100 1y
Add other income 2,00,000 | 3,00,000 10 12 Y,
2

12




Total Revenue 22,00,000 | 28,00,000 110 112 k7
Less Expenses 1,00,000 | 3,00,000 5 12 1y
Profit before Tax 21,00,000 | 25,00,000 105 100 s
Less Tax @50% 10,50,000 | 12,50,000 52.5 50
. Ya
Profit after Tax 10,50,000 | 12,50,000 52.5 50
3 marks
OR
Q. (b) From the following information, prepare a Comparative Statement
Ans
Comparative statement of Profit & Loss of Y Ltd. for the years
ended 31st March, 2021 and 31st March, 2022
el 2020-21 2021-22 Absolute % Change
Particulars ®) ®) Change(3)
Revenue from operations 30,00,000 | 40,00,000 10,00,000 33-3 A
Add other income 10,00,000 10,00,000 — —
Total Revenue 40,00,000 50,00,000 10,00,000 25 s
Less expenses :

Employee benefit expenses 5,00,000 5,00,000 — —

Other Expenses 20,00,000 35,00,000 15,00,000 75 1
Profit before Tax 15,00,000 | 10,00,000 (5,00,000) (33:3) Yo
Less Tax @ 50% 7,50,000 5,00,000 (2,50,000) (33.3) Yo
Profit after Tax 7,50,000 5,00,000 | (2,50,000) (33-3) Y2

3
marks
12. | Q. Calculate ‘Cash Flows from Operating Activities’......
Ans.
Calculation of ‘Cash Flows from operating activities’
for the year ended 31st March, 2021
Particulars Amount
)

Net profit before tax and extraordinary items 80,000
Add : Non-cash and Non-operating expenses : Yo

Depreciation 25,000

13



Net profit before changes in working capital 1,05,000
Add : Decrease in Current Assets and increase in Current
Liabilities :

Inventories 11,000
Less : Increase in Current Assets and decrease in Current
Liabilities :

Trade Receivabl (1,500)

rade Receivables (34,000)

Trade payables
Cash generated from operations 80,500
Less : Tax paid (6,500)
Cash Flow from operating activities 74,000
Dr. Provision for Tax Cr.

Particulars ® Particulars ®
To Bank Alc 6,500 | By Balance b/d 5,500
To Balance c/d 9,000 | By Statement of Profit &loss 10,000
15,500 15,500

Working Notes :
Calculation of net profit before tax :

Q)
Net Profit 70,000
Add provision for Tax 10,000
80,000

Yo

Y2
Y2

Y2
Y2

PART—B
Option—II
( Computerized Accounting )

14




10.

Q. State any tWo.....ccevvviniiineiinrennne

Ans.
Characteristics of Computerized Accounting System : ( Any two )

(1) Simple and integrated
Computerized Accounting System is designed to automate and integrate
all the business operations, such as sales, finance, purchase, inventory and
manufacturing. CAS is integrated to provide accurate, up-to-date business
information rapidly. The CAS may be integrated with enhanced MIS
(Management Information System), Multi-lingual and Data Organisation
capabilities to simplify all the business processes of the organization
easily and cost-effectively.
(i) Transparency and Control
CAS provides sufficient time to plan, increases data accessibility and
enhances user satisfaction. With computerized accounting, the
organization will have greater transparency for day-to-day business
operations and access to the vital information.
(iii) Accuracy and Speed
CAS provides user-definable templates ( data entry screens or forms ) for
fast, accurate data entry of the transactions. It also helps in generalising
desired documents and reports.
(iv)  Scalability

CAS enables in changing the volume of data processing in tune with the 1x2
change in the size of the business. The software can be used for any size -
of the business and type of the organization. K
(v)  Reliability 2 marks
CAS makes sure that the generalised critical financial information is
accurate, controlled and secured.
11. |Q. (a) Give the meaning of Database Management system.
Ans.
DBMS is a system that provides a variety of software tools for organizing,
processing and querying data in a flexible manner.
It is computerized data-keeping system. Users of the system are given facilities
to perform several kinds of operations on such system for either manipulation of
the data in database or the management of the data base structure itself. 3 marks
OR OR
Q. . (b) State the steps involved ..........cceevvinnrnnen.
Ans.
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Steps involved in Payroll Accounting :

(i) Maintaining payroll related data such as Employee No., Name, Attendance, 1

Basic Pay, etc.

(if) Periodic Payroll Computations, which includes the calculation of various
earnings and deduction heads.

(iii) Preparation of salary statement and employee salary slips. 1

(iv) Generation of advice to bank to transfer salary and other related statutory
payments in employees individual, bank A/c. 1

3 marks
12. | Q. Explain the steps involved in installation...........cccceceeuenen.

Ans.

Steps involved in installation of computerized accounting systems :

1. Insert CD in the system

2. After inserting CD, select the option in following steps :
(@) Select any (C: or E :, D :) from My Computer icon on the Desktop.

Double click on install.exe
OR

(b) Select Start > Run > Type the file name E:\install.exe

3. After the above process the default directories of application, data and
Configuration opens in a window. In case, the user wants to change the
default directories then it can be changed by providing the desired drive and
file name / directory name for example: D:\software name, instead of C :
\accounting software ( default name )

4. Click on Install and installation process begins, accounting software

5 marks

displays the message of successful installation, then this CD can be

removed.
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